Topic Hegarty Clip Topic Hegarty Clip
Q1 | Order Decimals 46 Q16 Similar polygons 610
Q2 | Decimals tdPercentage |55 Q17 Frequency trees 368/369
Q3 | Factors and Multiples 27133 Q18 Best Buys 84/763
Q4 [ Roundingo 10,100, 1000 17 Q19 Rotations 649
Q5 |[BIDMAS 150 Q20 Rules of Indices 105/106
Q6 | Link fractions to whole | 72 Q21 Percentage of amount 84
numbers problems
Q7 | Pictograms 426 Q22 Inverse proportion 340
Q8 | Coordinates 199 Q23 Estimation/convert 131/709/340
time/proportion
Q9 | Substitution 781 Q24 Simultaneous Equations 193
Q10 | Prime numbers 28 Q25 Probability Trealiagrams 363
Q11 | Equivalent/Add fractions | 60/66 Q26 Angles in a polygon 564
Q12 | Tariff graphs 897 Q27
Q13 | Finding ratios 329/176 Q28
Q14 | Anglegreasoning 480/477/560 | Q29
Q15 | Recipe proportion 740/741 Q30




Below shows a model solution to this question Show what you know
read it CAREFULLY! (Non Calculator Question)

Write the following numbers inorder of size.

. . . . Start withthe smallestnumber.
Write the following numbers in order of size.

Start with the smallest number.
0.5 0.03

0.4 0.02 0.37 0.152 0.2

¥ reworite them so thay howe Hha Same
nomi of deguts
O- Loo O -020 6'3:!'0 O- 1§2 0-200 Write the following numbers inorder of size.

T ? Q ‘ f Start withthe smallestnumber.

s I 4 2 3

0-02, 0-152,0:2,0-3%,04

1. Write the following numbersin order of size.
Start withthe smallestnumber.

0.2 0.03

kTotal for Question 1 is 1 mark)




Below shows a model solution to this question Show what you know
read it CAREFULLY! (Non Calculator Question)

Write the following asapercentages

Write (0.0 as a percentage.

L\O0

Decimal e pcrwxiage

_

(Total for Question 2 is 1 mark)




Below shows a model solution to this question
read it CAREFULLY! (Non Calculator Question)

3 Here is a list of numbers.

3 5 7 12

From the list, write down a factor of 10 2

moke_axe yooknad the a7}
Letueon foXors and molhgles '

Factorsof LO are. iR that |0
Conle. dunded laU wd:in.wLLnowS
O.rajfE.maMdDS...

to+S = 2
0+
S 18 ofootr of'tO

Moth oo of I3 asetha 1O fumes
teafle_ ... LG 20y 30--

(Total for Question 3 is 1 mark)

Show what you know

Here isalist ofnumbers.

From thelist, write down:

amultiple of 10

Afactorof9




Below shows a model solution to this question Show what you know
read it CAREFULLY! (Non Calculator Question)

Write thefollowing:
4 Write 7829to the neargstL000 8756to the nearestl000

1829

% 7654to the nearestL00

t j 10786 to the nearestO

R0CO 500 CCOG

13674 to the nearestO0

19587to the nearestL000
1829 s Nty SCCA
H’LD.I'L :l'OOO 58 tothe nearestL0

128 to the nearest00

872 to the nearest00

1357 to the nearest000

(Total for Question4 is 1 mark)




Below shows a model solution to this question
read it CAREFULLY! (Non Calculator Question)

5 (a) Workout3l 5+7
[
dothus husst

[Se3

(b) Work out 23

ol x Aek =

not 257%

(c) Write brackets () irthis statement tmake itcorrect.
71 4+3s5

_-l'x2)t3
C lu e3-1 X

'-}xCZ-c-S)
Fx§ = 35/

@)

(Total for Question5 is 3 marks)

Show what you know

Workout 5+ 3x7

Workout  3*

Write brackets( ) inthis statemento make itcorrect.

7+2x343

Workout 7+3%

Workout  10°

Write brackets( ) inthis statemento make itcorrect.

7+4x349




Below shows a model solution to this question Show what you know
read it CAREFULLY! (Non Calculator Question)

Sue hag cats.
6 Suehas2cats. colLl LTIV Eachcat eatsonethird of atin of catfood eachday.
Sue buy40tins of catfood.

catt
Each cat eatjs'zlof a tin of catfood eachday. | cos 2 ‘-/ Has Sue bought enough cat food to feed Beats forl4 days?

cob | = Zdﬁ Youmust show howyou getyour answer.

HasSueboughtenoughcatfood to feed heR cats forl4 days?
You mustshowhow you getyour answer.

(hn—;ldwds

2hns = LLdags

q_ hm LS Sue has 2ats.
Eachcat eats1/5 of atin of cat food each day.

Suebuys8 tins of catfood.

‘5 m = ( O Less M\-g Sue buys 6ins of catfood.
- Has Sue bought enougiat food to feed her2 cats for14 days?

é w 3 LQ, h/lld - SO You must show how you get yoanswer.
Thow - LL‘:QL%S_\/ sha hoo

enouaw -

(Total for Question 6 is 3 marks)




Below shows a model solution to this question Show what you know
read it CAREFULLY! (Non Calculator Question)

Thereare only appldrees, cherrytrees, pear treesind plumtrees inan orchard.

7 There areonly apple trees, cherry trees, pear treesgnth trees inan The pictogram showimformation about the numbers of appléees, cherry treesaind pear
orchard. trees inthe orchard.

Thepictogram shows information about thembersof apple treescherry
trees and pear trees in thechard. Fe) . ]
S0 []- 2{ e |

Apple Key:

Apple 4 | L (= I 2 & Cherry |:| represents 4 trees

Key:

P,
Cherry L [1] 5 “

representg trees
Pear L @

Plum [j I}) There isatotal of 28trees inthe orchard.

Complete thepictogram.

Plum

There is a total o8O trees in the orchard.
Completethe pictogram.

12+5+ 6=23
'3
30-92)-:?

(Total for Question7 is 3marks)




Below shows a model solution to this question
read it CAREFULLY! (Non Calculator Question)

ocs -l

K Y4
5

(a) Write downthe coordinates of poiAt
(s, 1)

(b) Onthe grid, mark with a cros$ { the point (2, 3)
Label this pointB.

(c) Onthe grid, drawntheline with equation x=1 4
@

(Total for Question 8 is 3marks)

Show what you know

(@) Write down the coordinates of point A.

(b) Onthe grid, mark with across( 1) the point (4, 3)
Label this point  B.

(c) Onthe grid, drawntheline with equation y=3




Below shows a model solution to this question Show what you know
read it CAREFULLY! (Non Calculator Question)

Work out the valuef 2g+3h
o 8 + Dh
LS T
Q 4

Work out the value of 3g+ 4h

2xQ ¢+ J x4
g + 12

Work out thevalue of 3g+ 2h

(Total for Question 9is 2marks)




Below shows a model solution to this question
read it CAREFULLY! (Non Calculator Question)

10 Write down twoprime numberghat have a sum &2

23 53 1L 13\ 19 23 29

20+3 = 32
oR.
IAt1v3 =32 Qa0 ce

(Total for Question10is 2 marks)

(lja_w\.n.ad.b W@G‘UPW
umles up Yo 14q

Show what you know

Write down two prime numbers that
sum of 28

Write down two prime numbers that
sum of 36

have a

have a




Below shows a model solution to this question
read it CAREFULLY! (Non Calculator Question)

11 Here are some fractions.

18 10

24 16
v oK

One of these fractions is not equivalent to %

(a) Which fraction?

1 5
(b) Work out E+§

<
11

(2)

(Total for Question 11 is 3 marks)

Show what you know

Here are some fractions.

12
28

3
One of these fractions is not equivalent to ;

Which fraction?

Work out

74 3
_+ i
16 8

Work out




Below shows a model solution to this question Show what you know
read it CAREFULLY! (Non Calculator Question)

12 Tom uses his lorry to deliver bricks.
You can use this graph to find the delivery cost for different

distances.

100

Distance (miles)

Delivery
cost (£)

(=3 o
™ o~

30 (3) 1500

Distance (miles) Kraareq

For each delivery, there is a fixed charge plus a charge for the
distance.
(a) How much is the fixed charge?

F... ...(1)
Tom makes two deliveries of bricks. The distance of one delivery is

20 miles more than the distance of the other delivery.
(b) Work out the difference between the two delivery costs.

The distance of one delivery is 40 miles more than the distance of the other delivery.

Work out the difference between the two delivery costs

Tom uses his lorry to deliver bricks.

You can use this graph to find the delivery
For each delivery, there is a fixed charge
plus a charge for the distance.

How much is the fixed charge?

Tom makes two deliveries of bricks.

cost for different distances.

(Total for Question 12 is 3 marks)




